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Topics to be discussed in adhoc session:

Topic #1: Maintenance of Rel-17 RedCap
Open issues summary
Sub-topic 1-1 Core part maintenance
Issue 1-1-1: Revision of the intra/inter-frequency definition in handover
Following was agreed at previous meeting [R4-2310149]:
	Revision of the intra/inter-frequency definition in handover
Agreement: Handover for a RedCap UE is defined as intra-frequency handover if the center frequency and subcarrier spacing (SCS) of the reference SSB of the serving cell is same as the center frequency and SCS of the reference SSB of the target cell, where:
· The reference SSB of the serving cell is the SSB configured in the active DL BWP of the serving cell
· The reference SSB of the target cell is the SSB configured in the DL firstActiveBWP of the target cell

RAN4 to further discuss whether and how to update the intra-frequency handover definition when the active DL BWP of serving cell/target cell doesn’t have SSB.
· Option 1: The intra-frequency handover is defined if the center frequency of the active DL BWP of serving cell is the same as the center frequency of the first active DL BWP of target cell.
· Other option is not precluded



Based on the above agreement, discuss the whether and how to update the intra-frequency handover definition when the active DL BWP of serving cell/target cell doesn’t have SSB.
· Proposals
· Option 1 (ZTE): 
· When the active DL BWP of serving cell/target cell doesn’t have SSB, the intra-frequency handover is defined if the center frequency of the active DL BWP of serving cell is the same as the center frequency of the first active DL BWP of target cell.
· Option 1a (Nokia):
· The intra-frequency handover is defined if the center frequency of the active DL BWP of serving cell is the same as the center frequency of the first active DL BWP of target cell and the SCS of serving cell’s CD-SSB and target cell’s CD-SSB are the same. 
· 

· Option 2 (QC,  HW, Nokia):
· When the active DL BWP of serving cell cell doesn’t contain an SSB, then CD-SSB is used as the reference SSB for the serving cell to define the intra-frequency handover.

· Recommended WF
Check if option 1a can be agreed. 

Tentative agreement:
· FFS: When the active DL BWP of serving cell cell doesn’t contain an SSB, then CD-SSB is used as the reference SSB for the serving cell to define the intra-frequency handover.

Issue 1-1-2: Intra-frequency cell definition for RRC re-establishment
Following was agreed at previous meeting [R4-2310149]:
	Intra-frequency cell definition for RRC re-establishment
Agreement: A neighbour cell for RRC re-establishment procedures for a RedCap UE is defined as an intra-frequency cell if the centre frequency and subcarrier spacing (SCS) of the reference SSB of the serving cell is same as the centre frequency and SCS of the reference SSB of the neighbor cell; else it is considered as inter-frequency cell, where:
· The reference SSB of the target cell is the CD-SSB of the target cell. 
· FFS: The reference SSB of the serving cell
· Option 1: SSB configured in the BWP-specific servingCellMO, if configured, else the SSB configured in the servingCellMO
· Option 2: CD-SSB of the serving cell
· Option 3: SSB within the active BWP



Based on the above agreement, discuss the definition of reference SSB of the serving cell. 
· Proposals
· Option 1 (ZTE, Nokia): 
· The reference SSB of the serving cell is the SSB within the active BWP.
· Option 2 (QC): 
· The reference SSB of the serving cell is the CD-SSB of the serving cell.

· Recommended WF
Discuss the options.

Tentative agreement to be discussed:
· The reference SSB of the serving cell is the CD-SSB of the serving cell.

Issue 1-1-3: Relaxation IDLE/INACTIVE mode measurement requirements 
· Proposals
· Option 1 (MTK): RAN4 shall update the requirements in clauses ‘4.2B.2.10.8’ and ‘4.2B.2.11.8’ to reflect that for the case of 
(i) Srxlev ≤ SnonIntraSearchP or Squal ≤ SnonIntraSearchQ:  requirements to follow Rel-16 low mobility and not-at-cell edge criterion, which is 1 hour; while 
(ii) Srxlev > SnonIntraSearchP or Squal > SnonIntraSearchQ:  requirements to follow Rel-17 stationary criterion, which is K2=240.

· Recommended WF
Provide comments to the CR (R4-2313060) directly. 

Sub-topic 1-2 Performance part maintenance
Following options were identified at previous meeting [R4-2310149]:
	Offset for missing thresholds: rsrp-ThresholdSSB-SUL
· Option 1: Add +1 dB of offset to rsrp-ThresholdSSB-SUL.
· Option 2:  Not to consider an offset for rsrp-ThresholdSSB-SUL as this threshold is not applicable to RedCap UE’s.
· Option 2a: RAN4 to inform RAN2 that RAN4 will not to consider an offset for rsrp-ThresholdSSB-SUL as this threshold is not applicable to RedCap UE’s



Issue 1-2-1: Offset for missing thresholds: rsrp-ThresholdSSB-SUL
· Proposals
· Option 1 (QC, Nokia): RAN4 to inform RAN2 that RAN4 will not consider an offset for rsrp-ThresholdSSB-SUL as this threshold is not applicable to RedCap UE’s.
· Recommended WF
Check if option 1 can be agreed. 

Tentative agreement:
· No consensus to inform RAN2 that RAN4 will not consider an offset for rsrp-ThresholdSSB-SUL as this threshold is not applicable to RedCap UE’s.
